

First Preference Vote

WARD 16 LIBERTON/GILMERTON

Electorate	25648	Turnout 2017 (%)	46.8
Votes cast	11995	Turnout 2012 (%)	39.9
		Change 2012- 2017	6.9

Sucessful Candidates

Name	Party	Elected at stage number
Lezley Marion CAMERON	Scottish Labour Party	1
Derek HOWIE	Scottish National Party (SNP)	6
Lesley MACINNES	Scottish National Party (SNP)	6
Stephanie SMITH	Scottish Conservative and Unionist	1

Candidates on ballot paper

		20	017
Name	Party	Valid Votes	Share (%)
Lezley Marion CAMERON	Scottish Labour Party	2911	24.8
Derek HOWIE	Scottish National Party (SNP)	2052	17.5
John Christopher KNOX	Scottish Liberal Democrats	648	5.5
Lesley MACINNES	Scottish National Party (SNP)	1913	16.3
John NICHOL	Scottish Green Party	606	5.2
Tim POGSON	Scottish Labour Party	875	7.5
Stephanie SMITH	Scottish Conservative and Unionist	2726	23.2
	Total Valid votes cast	11731	
		2017	2012
	Rejected papers	264	191
	Change 2007 2012	72	



Share of First Preference Votes 2012

Scottish Conservative and Unionist	12.25%
Scottish Green Party	5.17%
Scottish Labour Party	40.90%
Scottish Liberal Democrats	7.58%
Scottish National Party (SNP)	31.58%
Scottish Socialist Party	2.51%

Pre election seats

Scottish Conservative and Unionist Scottish Labour Party Scottish Labour Party Scottish Liberal Democrats

Declaration of Results

This report is the Declaration of Results script for Returning Officer.

Contest Name

Ward 16 - Liberton-Gilmerton

Here is the result of the election in the Ward 16 - Liberton-Gilmerton. There are 4 councillors to be elected.

- The percentage poll was 46.8%.
- There were 264 rejected papers. The quota of votes for a candidate to be elected is 2,347.
- The first preference votes received by each of the candidates was:

Candidate Name	Affiliation		Number of 1st Preferences
Lezley Marion CAMERON	Scottish Labour Party		2,911
Derek HOWIE	Scottish National Party (SNP)		2,052
John Christopher KNOX	Scottish Liberal Democrats		648
Lesley MACINNES	Scottish National Party (SNP)		1,913
John NICHOL	Scottish Green Party		606
Tim POGSON	Scottish Labour Party		875
Stephanie SMITH	Scottish Conservative and Unionist		2,726
		Total	11,731

After application of the election rules I declare that the following are deemed to be elected as councillors for the Ward 16 - Liberton-Gilmerton

Candidate Name	Affiliation	Stage at which Candidate was Elected
Lezley Marion CAMERON	Scottish Labour Party	1
Derek HOWIE	Scottish National Party (SNP)	6
Lesley MACINNES	Scottish National Party (SNP)	6
Stephanie SMITH	Scottish Conservative and Unionist	1

Returning Officer Signature:	
Date:	

Preference Summary Report

This report details all candidates preferences over count stages.

Contest Name

Тс

Ward 16 - Liberton-Gilmerton

otal Number of Valid Votes	11,731
Quota	2,347
Percentage Turnout	46.8

Candidate Name	Affiliation	1st	2nd	3rd	4th	5th	6th	7th
Lezley Marion CAMERON	Scottish Labour Party	2,911	1,680	1,168	601	520	175	54
Derek HOWIE	Scottish National Party (SNP)	2,052	2,017	553	271	229	260	232
John Christopher KNOX	Scottish Liberal Democrats	648	1,038	1,094	1,193	354	462	60
Lesley MACINNES	Scottish National Party (SNP)	1,913	2,061	524	305	203	351	194
John NICHOL	Scottish Green Party	606	540	2,054	490	534	222	166
Tim POGSON	Scottish Labour Party	875	2,526	1,012	838	465	521	54
Stephanie SMITH	Scottish Conservative and Unionist	2,726	353	642	272	172	121	1,119
	Totals	11,731	10,215	7,047	3,970	2,477	2,112	1,879

N.B. The STV election results cannot be calculated from these numbers.

Transfers Report

This report contains the transfers results.

Contest Name	Ward 16 - Liberton-Gilmerton	
Valid Votes	11,731	
Positions to be Filled	4	
Quota	2,347	

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Lezley Marion CAMERON	Scottish Labour Party		2,911
Derek HOWIE	Scottish National Party (SNP)		2,052
John Christopher KNOX	Scottish Liberal Democrats		648
Lesley MACINNES	Scottish National Party (SNP)		1,913
John NICHOL	Scottish Green Party		606
Tim POGSON	Scottish Labour Party		875
Stephanie SMITH	Scottish Conservative and Unionist		2,726
		Total	11,731

Candidate Lezley Marion CAMERON Elected with 2,911 votes, being in excess of the quota of 2,347 Candidate Stephanie SMITH Elected with 2,726 votes, being in excess of the quota of 2,347

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Lezley Marion CAMERON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lezley Marion CAMERON	0	0.00000	0.00000
Transfer to Derek HOWIE	179	0.19374	34.67946
Transfer to John Christopher KNOX	176	0.19374	34.09824
Transfer to Lesley MACINNES	93	0.19374	18.01782
Transfer to John NICHOL	58	0.19374	11.23692
Transfer to Tim POGSON	2,169	0.19374	420.22206
Transfer to Stephanie SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			45.74550
	Total		564.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Stephanie SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lezley Marion CAMERON	0	0.00000	0.00000
Transfer to Derek HOWIE	52	0.13903	7.22956
Transfer to John Christopher KNOX	808	0.13903	112.33624
Transfer to Lesley MACINNES	56	0.13903	7.78568
Transfer to John NICHOL	149	0.13903	20.71547
Transfer to Tim POGSON	587	0.13903	81.61061
Transfer to Stephanie SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			149.32244
	Total		379.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of John NICHOL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lezley Marion CAMERON	0	0.00000	0.00000
Transfer to Derek HOWIE	2	0.13903	0.27806
Transfer to Derek HOWIE	6	0.19374	1.16244
Transfer to Derek HOWIE	105	1.00000	105.00000
Transfer to John Christopher KNOX	67	0.13903	9.31501
Transfer to John Christopher KNOX	10	0.19374	1.93740
Transfer to John Christopher KNOX	136	1.00000	136.00000
Transfer to Lesley MACINNES	6	0.13903	0.83418
Transfer to Lesley MACINNES	1	0.19374	0.19374
Transfer to Lesley MACINNES	156	1.00000	156.00000
Transfer to Tim POGSON	16	0.13903	2.22448
Transfer to Tim POGSON	31	0.19374	6.00594
Transfer to Tim POGSON	126	1.00000	126.00000
Transfer to Stephanie SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			93.00114
	Total		637.95239

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of John Christopher KNOX

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lezley Marion CAMERON	0	0.00000	0.00000
Transfer to Derek HOWIE	17	0.13903	2.36351
Transfer to Derek HOWIE	11	0.19374	2.13114
Transfer to Derek HOWIE	88	1.00000	88.00000
Transfer to Lesley MACINNES	19	0.13903	2.64157
Transfer to Lesley MACINNES	13	0.19374	2.51862
Transfer to Lesley MACINNES	68	1.00000	68.00000
Transfer to John NICHOL	0	0.00000	0.00000
Transfer to Tim POGSON	299	0.13903	41.56997
Transfer to Tim POGSON	98	0.19374	18.98652
Transfer to Tim POGSON	310	1.00000	310.00000
Transfer to Stephanie SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			405.47556
	Total		941.68689

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Tim POGSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lezley Marion CAMERON	0	0.00000	0.00000
Transfer to Derek HOWIE	105	0.13903	14.59815
Transfer to Derek HOWIE	296	0.19374	57.34704
Transfer to Derek HOWIE	200	1.00000	200.00000
Transfer to John Christopher KNOX	0	0.00000	0.00000
Transfer to Lesley MACINNES	108	0.13903	15.01524
Transfer to Lesley MACINNES	251	0.19374	48.62874
Transfer to Lesley MACINNES	169	1.00000	169.00000
Transfer to John NICHOL	0	0.00000	0.00000
Transfer to Stephanie SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			1,377.03041

Total

1,881.61958

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Contest Name	Ward 16 - Liberton-Gilmerton	
Total number of Ballot Papers Received	11,995	
Total Number of Valid Votes	11,731	
Positions to be Filled	4	
Quota	2,347	
	7 -	

Stage 1

Candidate Name	Affiliation	Transfer Value	Votes Status
Lezley Marion CAMERON	Scottish Labour Party	0.00000	2,911.00000 Elected
Derek HOWIE	Scottish National Party (SNP)	0.00000	2,052.00000
John Christopher KNOX	Scottish Liberal Democrats	0.00000	648.00000
Lesley MACINNES	Scottish National Party (SNP)	0.00000	1,913.00000
John NICHOL	Scottish Green Party	0.00000	606.00000
Tim POGSON	Scottish Labour Party	0.00000	875.00000
Stephanie SMITH	Scottish Conservative and Unionist	0.00000	2,726.00000 Elected
Non-transferable votes		0.00000	0.00000
Total			11,731.00000

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Stage 2

Surplus of Lezley Marion CAMERON

Candidate Name	Affiliation	Transfer Value	Votes	Status
Lezley Marion CAMERON	Scottish Labour Party	-564.00000	2,347.00000	
Derek HOWIE	Scottish National Party (SNP)	34.67946	2,086.67946	
John Christopher KNOX	Scottish Liberal Democrats	34.09824	682.09824	
Lesley MACINNES	Scottish National Party (SNP)	18.01782	1,931.01782	
John NICHOL	Scottish Green Party	11.23692	617.23692	
Tim POGSON	Scottish Labour Party	420.22206	1,295.22206	
Stephanie SMITH	Scottish Conservative and Unionist	0.00000	2,726.00000	
Non-transferable votes		45.74550	45.74550	
Total			11,731.00000	

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Stage 3

Surplus of Stephanie SMITH

Candidate Name	Affiliation	Transfer Value	Votes	Status
Lezley Marion CAMERON	Scottish Labour Party	0.00000	2,347.00000	
Derek HOWIE	Scottish National Party (SNP)	7.22956	2,093.90902	
John Christopher KNOX	Scottish Liberal Democrats	112.33624	794.43448	
Lesley MACINNES	Scottish National Party (SNP)	7.78568	1,938.80350	
John NICHOL	Scottish Green Party	20.71547	637.95239	
Tim POGSON	Scottish Labour Party	81.61061	1,376.83267	
Stephanie SMITH	Scottish Conservative and Unionist	-379.00000	2,347.00000	
Non-transferable votes		149.32244	195.06794	
Total			11,731.00000	

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Stage 4

Exclusion of John NICHOL

Candidate Name	Affiliation	Transfer Value	Votes	Status
Lezley Marion CAMERON	Scottish Labour Party	0.00000	2,347.00000	
Derek HOWIE	Scottish National Party (SNP)	106.44050	2,200.34952	
John Christopher KNOX	Scottish Liberal Democrats	147.25241	941.68689	
Lesley MACINNES	Scottish National Party (SNP)	157.02792	2,095.83142	
John NICHOL	Scottish Green Party	-637.95239	0.00000	
Tim POGSON	Scottish Labour Party	134.23042	1,511.06309	
Stephanie SMITH	Scottish Conservative and Unionist	0.00000	2,347.00000	
Non-transferable votes		93.00114	288.06908	
Total			11,731.00000	

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Stage 5

Exclusion of John Christopher KNOX

Candidate Name	Affiliation	Transfer Value	Votes	Status
Lezley Marion CAMERON	Scottish Labour Party	0.00000	2,347.00000	
Derek HOWIE	Scottish National Party (SNP)	92.49465	2,292.84417	
John Christopher KNOX	Scottish Liberal Democrats	-941.68689	0.00000	
Lesley MACINNES	Scottish National Party (SNP)	73.16019	2,168.99161	
John NICHOL	Scottish Green Party	0.00000	0.00000	
Tim POGSON	Scottish Labour Party	370.55649	1,881.61958	
Stephanie SMITH	Scottish Conservative and Unionist	0.00000	2,347.00000	
Non-transferable votes		405.47556	693.54464	
Total			11,731.00000	

Candidate Votes Per Stage Report

This report describes votes attained by candidates at each stage.

Stage 6

Exclusion of Tim POGSON

Candidate Name	Affiliation	Transfer Value	Votes Status
Lezley Marion CAMERON	Scottish Labour Party	0.00000	2,347.00000
Derek HOWIE	Scottish National Party (SNP)	271.94519	2,564.78936 Elected
John Christopher KNOX	Scottish Liberal Democrats	0.00000	0.00000
Lesley MACINNES	Scottish National Party (SNP)	232.64398	2,401.63559 Elected
John NICHOL	Scottish Green Party	0.00000	0.00000
Tim POGSON	Scottish Labour Party	-1,881.61958	0.00000
Stephanie SMITH	Scottish Conservative and Unionist	0.00000	2,347.00000
Non-transferable votes		1,377.03041	2,070.57505
Total			11,731.00000

Election Results

This report contains the election results.

Contest Name

Ward 16 - Liberton-Gilmerton

I declare that the result of the election in the Ward 16 - Liberton-Gilmerton is as follows.

There are 4 councillor(s) to be elected.

The percentage poll was 46.8%. There were 11,731 valid ballot papers and 264 rejected ballot papers.

The quota of votes for a candidate to be elected is 2,347.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as follows:

Candidate Name	Affiliation	Number of First Preference Votes	Stage at Which Candidate Has Been Elected
Lezley Marion CAMERON	Scottish Labour Party	2,911	1
Derek HOWIE	Scottish National Party (SNP)	2,052	6
John Christopher KNOX	Scottish Liberal Democrats	648	0
Lesley MACINNES	Scottish National Party (SNP)	1,913	6
John NICHOL	Scottish Green Party	606	0
Tim POGSON	Scottish Labour Party	875	0
Stephanie SMITH	Scottish Conservative and Unionist	2,726	1
	Total	11,731	

Election Results

This report contains the election results.

Of the total ballot papers, the following were rejected and not counted on account of:

Adjudication Rejection Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	22
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	229
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	1
Which is unmarked or void for uncertainty	12
Total	264

Returning Officer Signature:	
Date:	

First Preference Report

This report details the electorate, the turnout, the quota and the number of first preference votes for each candidate.

Contest Name	Total Electorate	Total Number of Ballot Papers Received	Percentage Turnout	Total Number of Ballot Papers Rejected	Total Number of Valid Votes	Quota
Ward 16 - Liberton-Gilmerton	25,648	11,995	46.8	264	11,731	2,347

Candidate Name	Affiliation	Total Number of First Preference Votes
Lezley Marion CAMERON	Scottish Labour Party	2,911
Derek HOWIE	Scottish National Party (SNP)	2,052
John Christopher KNOX	Scottish Liberal Democrats	648
Lesley MACINNES	Scottish National Party (SNP)	1,913
John NICHOL	Scottish Green Party	606
Tim POGSON	Scottish Labour Party	875
Stephanie SMITH	Scottish Conservative and Unionist	2,726
	т	otal 11,731



City of Edinburgh Council Elections 4 May 2017 Ward: 16 Liberton/Gilmerton Box / Polling Place

Ballot Box	Polling Place
237	Goodtrees Neighbourhood Centre
238	Goodtrees Neighbourhood Centre
239	Alnwickhill Road Army Reserve Centre
240	South Neighbourhood Office
241	South Neighbourhood Office
242	Liberton Kirk Halls
243	Liberton Kirk Halls
244	Liberton Northfield Church Hall
245	Valley Park Community Centre
246	Valley Park Community Centre
247	Gilmerton Community Centre
248	Gilmerton Community Centre
249	Gilmerton Community Centre
250	St John Vianney RC Primary School
251	St Gregory's RC Church Hall
252	St Gregory's RC Church Hall

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 237	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	144	31	49	20	18	14	1	
Derek HOWIE	95	123	13	11	6	6	5	
John Christopher KNOX	9	21	27	44	12	21	2	
Lesley MACINNES	121	92	22	9	6	6	7	
John NICHOL	18	13	89	13	23	8	5	
Tim POGSON	11	107	30	35	21	22	5	
Stephanie SMITH	45	9	17	9	7	4	48	

BOX 238	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	199	49	47	35	17	11	3	
Derek HOWIE	99	121	24	18	16	15	8	
John Christopher KNOX	17	28	37	47	25	31	0	
Lesley MACINNES	106	88	26	18	13	14	11	
John NICHOL	19	23	94	24	22	13	11	
Tim POGSON	25	167	39	26	28	22	4	
Stephanie SMITH	72	9	37	8	9	6	65	

BOX 239	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	162	89	56	30	27	7	1	
Derek HOWIE	81	92	25	9	13	18	17	
John Christopher KNOX	49	65	75	63	11	20	1	
Lesley MACINNES	78	78	24	16	9	25	16	
John NICHOL	27	29	108	28	37	8	6	
Tim POGSON	33	123	60	43	24	21	6	
Stephanie SMITH	186	33	37	24	5	4	48	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 240	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	105	102	58	38	40	8	2	
Derek HOWIE	122	144	25	14	13	17	10	
John Christopher KNOX	28	23	48	64	18	33	5	
Lesley MACINNES	134	117	28	17	8	15	12	
John NICHOL	23	27	118	27	36	13	4	
Tim POGSON	75	85	47	43	27	35	2	
Stephanie SMITH	83	10	32	13	3	5	73	

BOX 241	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	136	101	54	30	27	11	4	
Derek HOWIE	104	113	39	16	14	12	7	
John Christopher KNOX	27	37	63	64	15	34	3	
Lesley MACINNES	113	112	25	18	13	14	7	
John NICHOL	32	28	121	38	26	10	9	
Tim POGSON	54	122	50	43	30	26	2	
Stephanie SMITH	115	12	32	7	8	9	66	

BOX 242	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	109	74	33	37	18	3	1	
Derek HOWIE	76	42	19	6	13	6	9	
John Christopher KNOX	46	68	67	51	12	12	2	
Lesley MACINNES	32	78	15	10	9	19	6	
John NICHOL	30	22	79	27	22	6	3	
Tim POGSON	14	97	58	29	20	20	0	
Stephanie SMITH	163	22	29	16	6	5	42	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 243	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	131	89	55	34	26	12	1	
Derek HOWIE	105	46	18	15	11	14	13	
John Christopher KNOX	65	74	69	74	12	22	1	
Lesley MACINNES	31	100	29	11	16	21	6	
John NICHOL	43	44	114	34	24	6	3	
Tim POGSON	19	120	74	43	23	24	1	
Stephanie SMITH	192	32	35	16	7	0	51	

BOX 244	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	116	86	57	43	44	13	1	
Derek HOWIE	66	112	27	12	15	21	19	
John Christopher KNOX	41	61	57	84	24	27	3	
Lesley MACINNES	107	79	21	10	9	31	17	
John NICHOL	35	29	126	25	32	9	16	
Tim POGSON	35	106	64	50	35	42	4	
Stephanie SMITH	167	25	26	17	12	6	70	

BOX 245	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	86	61	39	18	21	5	3	
Derek HOWIE	71	90	18	9	9	7	9	
John Christopher KNOX	7	20	35	51	12	22	3	
Lesley MACINNES	86	75	13	11	10	12	5	
John NICHOL	14	14	75	15	21	10	10	
Tim POGSON	46	65	32	28	13	23	4	
Stephanie SMITH	65	12	21	7	10	9	45	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 246	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	73	69	43	23	23	2	3	
Derek HOWIE	61	80	25	11	8	10	5	
John Christopher KNOX	11	37	28	42	15	18	1	
Lesley MACINNES	91	61	16	8	5	9	6	
John NICHOL	26	16	74	19	15	7	7	
Tim POGSON	39	79	29	25	12	27	2	
Stephanie SMITH	106	16	14	5	10	1	42	

BOX 247	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	85	85	34	15	21	8	2	
Derek HOWIE	66	109	22	7	7	8	5	
John Christopher KNOX	12	21	26	31	15	14	3	
Lesley MACINNES	109	62	18	9	8	7	4	
John NICHOL	22	19	76	18	10	5	3	
Tim POGSON	66	69	24	31	12	16	2	
Stephanie SMITH	79	10	20	8	5	4	38	

BOX 248	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	81	68	42	15	17	9	2	
Derek HOWIE	79	86	28	12	9	13	6	
John Christopher KNOX	15	27	32	35	16	19	0	
Lesley MACINNES	85	83	19	12	5	14	12	
John NICHOL	24	24	71	16	22	7	4	
Tim POGSON	61	66	22	30	15	15	2	
Stephanie SMITH	76	9	17	9	7	3	49	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 249	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	111	94	35	20	20	7	1	
Derek HOWIE	76	90	21	11	9	8	5	
John Christopher KNOX	17	21	34	38	8	20	2	
Lesley MACINNES	85	82	22	11	5	9	8	
John NICHOL	20	22	75	15	15	4	2	
Tim POGSON	81	80	35	21	16	16	1	
Stephanie SMITH	63	9	18	5	5	6	42	

BOX 250	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	146	43	52	34	39	12	1	
Derek HOWIE	196	43	30	16	15	11	13	
John Christopher KNOX	23	35	48	69	20	31	3	
Lesley MACINNES	34	197	29	17	11	19	5	
John NICHOL	42	24	110	27	32	10	8	
Tim POGSON	21	121	36	43	31	46	1	
Stephanie SMITH	44	12	32	13	9	6	82	

BOX 251	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	126	42	51	30	37	4	2	
Derek HOWIE	118	54	24	20	13	19	13	
John Christopher KNOX	21	30	34	62	28	30	3	
Lesley MACINNES	42	114	23	14	20	25	12	
John NICHOL	36	25	82	24	24	28	5	
Tim POGSON	18	104	37	45	31	34	1	
Stephanie SMITH	43	9	15	13	9	5	98	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX 252	1st	2nd	3rd	4th	5th	6th	7th
Lezley Marion CAMERON	130	41	48	22	20	11	6
Derek HOWIE	107	71	23	15	9	11	4
John Christopher KNOX	26	24	28	44	20	21	4
Lesley MACINNES	45	100	32	20	15	14	4
John NICHOL	32	17	75	20	26	15	6
Tim POGSON	12	104	39	44	24	26	1
Stephanie SMITH	38	7	15	6	7	10	68

BOX CEC16001	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	134	72	46	16	11	5	4	
Derek HOWIE	72	94	26	9	5	10	12	
John Christopher KNOX	24	61	61	41	14	11	2	
Lesley MACINNES	96	78	19	6	2	14	11	
John NICHOL	18	18	85	14	20	5	12	
Tim POGSON	30	121	43	42	14	9	2	
Stephanie SMITH	178	16	32	19	6	9	16	

BOX CEC16002	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	132	79	72	18	13	4	1	
Derek HOWIE	80	68	23	12	7	9	4	
John Christopher KNOX	23	71	55	50	9	8	3	
Lesley MACINNES	72	78	23	12	5	8	9	
John NICHOL	16	20	66	17	19	7	12	
Tim POGSON	36	138	39	34	8	19	3	
Stephanie SMITH	201	11	31	16	8	5	27	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

BOX CEC16003	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	139	93	45	17	17	1	2	
Derek HOWIE	72	69	17	7	5	8	13	
John Christopher KNOX	31	51	62	48	11	5	2	
Lesley MACINNES	69	81	17	12	4	16	7	
John NICHOL	23	19	70	13	18	6	6	
Tim POGSON	45	126	48	31	10	18	0	
Stephanie SMITH	163	19	42	8	9	5	25	

BOX CEC16004	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	157	85	60	20	10	7	6	
Derek HOWIE	68	82	27	11	5	9	14	
John Christopher KNOX	35	70	51	39	20	11	5	
Lesley MACINNES	84	69	28	16	6	14	8	
John NICHOL	25	26	68	21	25	13	8	
Tim POGSON	32	141	67	41	11	7	2	
Stephanie SMITH	179	16	39	9	8	11	23	

BOX CEC16005	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	110	63	56	22	13	4	4	
Derek HOWIE	60	72	17	9	5	9	13	
John Christopher KNOX	25	50	40	39	12	11	5	
Lesley MACINNES	69	64	18	10	7	14	6	
John NICHOL	16	19	67	17	17	8	7	
Tim POGSON	43	100	32	35	8	16	3	
Stephanie SMITH	132	15	32	14	8	1	19	

Preferences by Ballot Box Report

This report shows voters' preferences by ballot box.

Contest Name :

Ward 16 - Liberton-Gilmerton

BOX CEC16006, Manual Entry	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	77	35	49	12	8	3	1	
Derek HOWIE	45	50	14	7	5	7	7	
John Christopher KNOX	23	39	25	32	5	9	3	
Lesley MACINNES	55	40	15	9	4	7	7	
John NICHOL	15	20	48	6	14	8	4	
Tim POGSON	15	84	25	17	8	7	2	
Stephanie SMITH	104	13	20	4	5	0	14	

BOX CEC16007	1st	2nd	3rd	4th	5th	6th	7th	
Lezley Marion CAMERON	222	129	87	52	33	14	2	
Derek HOWIE	133	166	48	14	17	12	21	
John Christopher KNOX	73	104	92	81	20	32	4	
Lesley MACINNES	169	133	42	29	13	24	8	
John NICHOL	50	42	163	32	34	16	15	
Tim POGSON	64	201	82	59	44	30	4	
Stephanie SMITH	232	27	49	26	9	7	68	

N.B. The STV election results cannot be calculated from these numbers.